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Question 1

Primary 5 Maths » Primary 5 Maths (Term 2) 1 pt

Choose the correct answer for each question. (20 Marks)

Which one of the following has the digit 4 in the hundreds place?

A) 154708
B) 342951
C) 482751

v' D) 732458

Question Type:

Multiple Choice

Randomize Answers: No

Date Added: Wed 4th Aug 2021
Last Modified: N/A

QID#: 28,614,669

Question 2

Which one of the fractions is the greatest?

A)

L)
2

Primary 5 Maths » Primary 5 Maths (Term 2)
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Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 3

Multiple Choice
No

Wed 4th Aug 2021
N/A

28,614,668
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Primary 5 Maths » Primary 5 Maths (Term 2)

What is the estimated height of the door of the classroom?

A) 0.24m
v' B) 2.40m
C) 24m
D) 240m

Question Type:

Randomize Answers:

Date Added:
Last Modified:
QID#:

Question 4

Multiple Choice
No

Wed 4th Aug 2021
N/A

28,614,670

Which one of the following is not equal to 1.4?

— e

height

Primary 5 Maths » Primary 5 Maths (Term 2)
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Date Added:

Last Modified:
QID#:

Question 5

Chigrch

A) school
B) mall
C) library

Randomize Answers:

ClassMarker - Manage Test

Multiple Choice
No

Wed 4th Aug 2021
N/A

28,614,671

Primary 5 Maths » Primary 5 Maths (Term 2)

Jane is facing the school. Where will she be facing if she turns 225 clockwise?

School

Police Post

— Library

™

g

3
Train Station
Park Community Centre
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A)
B)
C)
D)
v E)
F)
G)
H)

D) train station
E) community centre
v' F) park

G) church

H) police post

Question Type: Multiple Choice
Randomize Answers: No

Date Added: Wed 4th Aug 2021
Last Modified: N/A

QID#: 28,614,672

Question 6

School
Paolice Post

Park Community Cantre

school

mall

library

train station
community centre
park

church

police post

Question Type: Multiple Choice
Randomize Answers: No

Date Added: Wed 4th Aug 2021
Last Modified: N/A

QID#: 28,614,674
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Primary 5 Maths » Primary 5 Maths (Term 2)

1 "
Peles is facing the @rary after making a -tum anticlockwizsa. What was he
facing at firsty
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Question 7

A)
1
1
B)
3
4
C)
v D)
1
3

Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 8

o 1he figure & shaded?

Multiple Choice
No

Wed 4th Aug 2021
N/A

28,614,673
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Primary 5 Maths » Primary 5 Maths (Term 2)

The figure ia made up of 3 squares, ABEF . BCDE andd EFGH. What frascteon

Primary 5 Maths » Primary 5 Maths (Term 2)
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3 :
Express 24 as a decimal.

A) 0.08
B) 0.12
v C) 0.125
D) 0.135
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Wed 4th Aug 2021
Last Modified: N/A
QID#: 28,614,675
Question 9 Primary 5 Maths » Primary 5 Maths (Term 2) 1 pt

Find the value of ( 8x3) - 14 + 50 + 10

A) 5
B) 6
v C) 15
D) 39
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Wed 4th Aug 2021
Last Modified: N/A
QID#: 28,614,676
Question 10 Primary 5 Maths » Primary 5 Maths (Term 2) 1 pt

Which one of the following shapes is not symmetrical?

v A)

B)

https://www.classmarker.com/a/tests/test/?test_id=1792399&trk=edittest_inrow_edit 6/33


https://www.classmarker.com/a/tests/qb/manage/?test_id=1792399&question_id=28614675
https://www.classmarker.com/a/tests/qb/manage/?test_id=1792399&question_id=28614675&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1792399
https://www.classmarker.com/a/tests/qb/manage/?test_id=1792399&question_id=28614676
https://www.classmarker.com/a/tests/qb/manage/?test_id=1792399&question_id=28614676&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1792399

9/20/21, 9:59 PM

C)

D)

Question Type: Multiple Choice
Randomize Answers: No

Date Added: Wed 4th Aug 2021
Last Modified: N/A

QID#: 28,614,677

Question 11

ClassMarker - Manage Test

Primary 5 Maths » Primary 5 Maths (Term 2)

The graph below shows Mrs Tan's electricity bill for the pasl 5 monihs

 Mrs Tan's elactricitf bill

5 g

¥

wmount of maney 5]
o

greatest?
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A) October and November
v B) November and December
C) December and January

D) January and February

Question Type: Muiltiple Choice
Randomize Answers: No

Date Added: Wed 4th Aug 2021
Last Modified: N/A

QID#: 28,614,678

Question 12

P
Q
26°
A o
Find £ PQQ.
A) 26
v' B) 64
C) 116
D) 154
Question Type: Muiltiple Choice
Randomize Answers: No
Date Added: Wed 4th Aug 2021
Last Modified: N/A
QID#: 28,614,679

Question 13
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Primary 5 Maths » Primary 5 Maths (Term 2)

1 pt

1 pt

8/33


https://www.classmarker.com/a/tests/qb/manage/?test_id=1792399&question_id=28614678
https://www.classmarker.com/a/tests/qb/manage/?test_id=1792399&question_id=28614678&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1792399
https://0cm.classmarker.com/6226088_XJ3US6IT.png
https://www.classmarker.com/a/tests/qb/manage/?test_id=1792399&question_id=28614679
https://www.classmarker.com/a/tests/qb/manage/?test_id=1792399&question_id=28614679&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1792399

9/20/21, 9:59 PM ClassMarker - Manage Test

. Find the area of the triangie.

- e =

™
4 =
10 cm
A) 21cm2
v B) 30cm2
C) 36cm2
D) 60cm2
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Wed 4th Aug 2021
Last Modified: N/A
QID#: 28,614,680
Question 14 Primary 5 Maths » Primary 5 Maths (Term 2)

Mask had & box of counlens of difierant shapes. He counled the shapes a=

ghram in tie table.

Cwal Triangie

| 12“_J_ 18 E | H J

| Siar -l Cirele

*
B
1

Find ihe ratko of the number of circies 4o the total umber af shapes.

A) 5:.03
v B) 2:05
C) 3:05
D) 5:04
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Wed 4th Aug 2021
Last Modified: N/A
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Question 15

A) 5
B) 25
v C) 35

D) 350

Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 16

28,614,681

Multiple Choice
No

Wed 4th Aug 2021
N/A

28,614,682

ClassMarker - Manage Test

Primary 5 Maths » Primary 5 Maths (Term 2)

Primary 5 Maths » Primary 5 Maths (Term 2)

Mrs Tan baked 250 pineapple tarts every day for a week. Then she packed them into boxes of 50 each.
How many boxes of pineapple tarts were there?

The tabbe shows the fiight schedula for 3 different airlines from Singapose bo

A) SA 388 Ringa Air
B) GA 587 Getstar Air

v C) ZA 912 Zoot Air

Question Type:

Muiltiple Choice
Randomize Answers: No

Date Added: Wed 4th Aug 2021
Last Modified: N/A
QID#: 28,614,683

by all airflines was for {ravel from Mondgay to Thur?dayr.
(i) Which Tligh! would give Mr Pang maore optians i e cowld only frawvel on
Monday, Tuesday or Thursday?

https://www.classmarker.com/a/tests/test/?test_id=1792399&trk=edittest_inrow_edit

Hong Kong. :
Flight Information | Depariure Time Weekly Schadule
= {5ingapore) " :
: Saturday, Sunday, |

B4 388 Ringa A 755 p.m. Manday, Friday

7 Saturday, Tuasday

G4 BBT Getstar Alr 3,40 pom, Wesdnasday, Frid
S Survday, Monday,

LA 912 Foot Air 4 65 p.m. Thursday, Friday J

Mr Pang wanted to buy fhe cheapesi air ticket. The eheapast aif ticket offered
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Question 17

How many options were there?

Accepted answers:

v 2
v’ 2options

v’ 2 options

Question Type:
Date Added:
Last Modified:
QID#:

Free Text

Wed 4th Aug 2021
N/A

28,614,718

Question 18

ClassMarker - Manage Test

Primary 5 Maths » Primary 5 Maths (Term 2)

Primary 5 Maths » Primary 5 Maths (Term 2)

A rectangular piece of paper i folded into fifths and pamally shaded.

e i ——— A

PR L S5 b Tt =t |

The same piece of papar is then folded into quarters and shripes drawn over
somue of the shaded area

Which one of the following shows the fraction of the piece of paper with
atripes drawn over the shaded area’?

A)

-
*
[l oS

B)
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Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 19

A) 25
B) 20
C) 5

v' D) 4

Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 20

https://www.classmarker.com/a/tests/test/?test_id=1792399&trk=edittest_inrow_edit

3.3

S ]

4 5
v C)

4 3

et

12 5
D)

&4 3

g S

20 &

Multiple Choice
No

Wed 4th Aug 2021
N/A

28,614,684

Multiple Choice
No

Wed 4th Aug 2021
N/A

28,614,685

ClassMarker - Manage Test

Primary 5 Maths » Primary 5 Maths (Term 2)

Mrs Wong has 100 stickers. She distributed them equally among 5 groups of students in her class.
Every student received 5 stickers. How many students were there in each group?

Primary 5 Maths » Primary 5 Maths (Term 2)
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A water fank i 3 Filled with water. What is the amount of waber needed 1o fill
fhe fank completely?

)

i

/}Eir:m

—— = K
30 om
A) 360
B) 720
v C) 1080
D) 1800
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Wed 4th Aug 2021
Last Modified: N/A
QID#: 28,614,686
Question 21 Primary 5 Maths » Primary 5 Maths (Term 2) 1 pt

It takes 3 h 55 min to travel from Singapore to Hong Kong. Which airline should Mdm Goh take in order
to reach Hong Kong at 19 35?
A) SA 388 Ringa Air

v B) GA 587 Getstar Air

C) ZA 912 Zoot Air

Question Type: Multiple Choice

Randomize Answers: No

Date Added: Wed 4th Aug 2021

Last Modified: N/A

QID#: 28,614,687

Question 22 Primary 5 Maths » Primary 5 Maths (Term 2) 0 pts

Write 5 245 067 in words

Question Type: Essay

Date Added: Wed 4th Aug 2021
Last Modified: N/A
QID#: 28,614,691
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Correctly answered feedback

Five million, two hundred and forty-five thousand and sixty seven

Incorrectly answered feedback

Five million, two hundred and forty-five thousand and sixty seven

Question 23

ACE and ADF are straight ines. ABC is an jzasceles tiangle. £ BCE = 115
ZBAC is twice £ TAD

Find

(@) £F

{b1 21

Question Type: Essay

Date Added: Wed 4th Aug 2021
Last Modified: N/A
QID#: 28,614,692

Correctly answered feedback

https://www.classmarker.com/a/tests/test/?test_id=1792399&trk=edittest_inrow_edit

Primary 5 Maths » Primary 5 Maths (Term 2)
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(a) 180° - 115° = 65°
Zr=65°(isos A\ )

(b) 180% — 65° —63° = H0°
£ CGAD =50°+ 2

= 25°
180° - 115° — 25° =40°
Zt = 180° - 40°
= 140°

Incorrectly answered feedback

(a) 180° — 115° = 65°
Zr=85%(isos /\ )

(b) 180° — 65° —65° = 30*
£ CAD = 50°+ 2

= 25°
180° - 1150 — 25° =40°
£t = 180° - 40°
= 140°
Question 24 Primary 5 Maths » Primary 5 Maths (Term 2) 0 pts

5
Shade - of the rectangle.

i
e :.- "-'-'r . I ¥ H ;

Please type "done™ to proceed to the next question

Question Type: Essay

Date Added: Wed 4th Aug 2021
Last Modified: N/A
QID#: 28,614,693
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A)
v B)
C)
D)
E)
F)

Correctly answered feedback

Incorrectly answered feedback

Mumbser of books

Question 25

ClassMarker - Manage Test

Primary 5 Maths » Primary 5 Maths (Term 2)

The graph below shows the number of books sold each month by Hassim.

200

i

g

on
=

January
February
March
April
May

June

{a) Inwhich menth was the least numbar of books sold?
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Question Type: Muiltiple Choice
Randomize Answers: No
Date Added: Wed 4th Aug 2021
Last Modified: N/A
QID#: 28,614,688
Question 26 Primary 5 Maths » Primary 5 Maths (Term 2) 0 pts
In June, Hassim sold twice a many books as in January complete the line graph.
Please type "done™ to proceed to the next question
Question Type: Essay
Date Added: Wed 4th Aug 2021
Last Modified: N/A
QID#: 28,614,694
Correctly answered feedback
T
i
o
k.3
o
H
e M
T
E o
-
o
Incorrectly answered feedback
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- - -
e |- z ; i 1L 5 Sl ST s
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Question 27 Primary 5 Maths » Primary 5 Maths (Term 2) 1 pt
Hassim made a profit of $2 per book sold. How much more did he make in May than in February and
March?
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Accepted answers:
v $40

v 40

Question Type: Free Text

Date Added: Wed 4th Aug 2021
Last Modified: N/A
QID#: 28,614,695

Correctly answered feedback

50 + 110 =160
160 x 2 =320
180 x 2 = 360
$360-$320 = $40

Incorrectly answered feedback

50 + 110 = 160
160 x 2 =320
180 x 2 = 360
$360-$320 = $40

Question 28 Primary 5 Maths » Primary 5 Maths (Term 2) 2 pts

BAre Ten had to pack B0 mulfing nfto boxes
She packed themn in boxes of & muffins each,
\What was the least number of baxes Mre Tan
nieisd to pack all the muffins?

Accepted answers:

v’ 14 boxes
v 14

Question Type: Free Text

Date Added: Wed 4th Aug 2021

Last Modified: N/A

QID#: 28,614,696
Question 29 Primary 5 Maths » Primary 5 Maths (Term 2) 4 pts

https://www.classmarker.com/a/tests/test/?test_id=1792399&trk=edittest_inrow_edit 18/33
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Kelly had some pencils to sell. On e 1¥ day, she sold 33 pencils. On the
2™ day, she iul:l% of the remaining pencils. The total number of pencis soid

en the first two days was thrice that of the number of pencils lefl. How many
pencils did she have at the beginning?

Accepted answers:
v" 48 pencils

v 48

Question Type: Free Text

Date Added: Wed 4th Aug 2021
Last Modified: N/A
QID#: 28,614,697

Correctly answered feedback

4x3=12
12-1=11

11 units = 33

1 unit=3

Ix5=15

15 + 33 = 48 pencils

Incorrectly answered feedback

4x3=12
12-1=11

11 units = 33
Tunit=3

3x5=156

15 + 33 = 48 pencils

Question 30

Primary 5 Maths » Primary 5 Maths (Term 2)

https://www.classmarker.com/a/tests/test/?test_id=1792399&trk=edittest_inrow_edit
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In the: figure below, not drawn to scale, £ a= 2 b, Find £ a.

b 22t

Accepted answers:

v 70

Question Type: Free Text

Date Added: Wed 4th Aug 2021

Last Modified: N/A

QID#: 28,614,698
Question 31 Primary 5 Maths » Primary 5 Maths (Term 2)

At a birthday party, every girls was given 4 cupcakes while every boy was given 6 cupcakes. There
were twice as many girls as boys at the party. A total of 700 cupcakes were given out.

a) how many girls were at the party?

Accepted answers:
v’ 100 girls

v 100

Question Type: Free Text

Date Added: Wed 4th Aug 2021
Last Modified: N/A
QID#: 28,614,699

Correctly answered feedback
4x2=8

6x1=6

8+6=14

700 + 14 =50

50x2=100

Incorrectly answered feedback
4x2=8

6x1=6

8+6=14

700 + 14 =50

50x2=100

https://www.classmarker.com/a/tests/test/?test_id=1792399&trk=edittest_inrow_edit
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Question 32 Primary 5 Maths » Primary 5 Maths (Term 2)

b) An adult was present for every 10 children at the party. How many adults were there at the party?

Accepted answers:
v’ 15 Adults
v 15

Question Type: Free Text

Date Added: Wed 4th Aug 2021
Last Modified: N/A
QID#: 28,614,701

Correctly answered feedback
50x1-50

50 + 100 = 150

150 +10=15

Incorrectly answered feedback
50x1-50

50 + 100 = 150

150 +10=15

Question 33 Primary 5 Maths » Primary 5 Maths (Term 2)

2
Tom uses 3 [ of black paint 1o paiﬂg of a pole.
How much more paint does Tom need if he wanis to painl the whola pole?

G

Accepted answers:
v 412
V412
Vo412
V412
Vo421

v 41/2L

Question Type: Free Text

Date Added: Wed 4th Aug 2021
Last Modified: N/A
QID#: 28,614,700

https://www.classmarker.com/a/tests/test/?test_id=1792399&trk=edittest_inrow_edit
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Primary 5 Maths » Primary 5 Maths (Term 2)

Question 34

o P Lak)
Use all of the following digits to form the emallest ped number that is divisibie

by 6.
0, 6, 9, 2, 1

Accepted answers:

v 10296

Question Type: Free Text

Date Added: Wed 4th Aug 2021
Last Modified: N/A
QID#: 28,614,702

Primary 5 Maths » Primary 5 Maths (Term 2)

Question 35

Fetar E.'I:ll'd : of his aranges end thraw away = nf ihe remainder. He had
38 umngﬂs lett. How many oranges did F'etar have al first?

Accepted answers:
v’ 240 oranges

v’ 240

Question Type: Free Text

Date Added: Wed 4th Aug 2021
Last Modified: N/A
QID#: 28,614,703

Primary 5 Maths » Primary 5 Maths (Term 2)

Question 36

https://www.classmarker.com/a/tests/test/?test_id=1792399&trk=edittest_inrow_edit

2 pts

2 pts

2 pts
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The figure shows a 14-em square. Find the area of the unshaded part of the
squars.

Accepted answers:
v’ 126cm2

v’ 126 cm2

Question Type: Free Text

Date Added: Wed 4th Aug 2021
Last Modified: N/A
QID#: 28,614,704

Primary 5 Maths » Primary 5 Maths (Term 2) 2 pts

Question 37

Amy listed the number 2 to 28. How many times does the digit ‘2 appear?

2,3,4,...,27,28, 28

Accepted answers:
v’ 13 times

v 13

Question Type: Free Text

Date Added: Wed 4th Aug 2021
Last Modified: N/A
QID#: 28,614,705

Primary 5 Maths » Primary 5 Maths (Term 2) 2 pts

Question 38
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ClassMarker - Manage Test

A shop opens for the time shown in the table

Opening hours

9.00 a.m. 10 12.30 pm.
200 pm. to4.00 p.m.

6.45 p.m. 1o 2.30 p.m.

v’ 8h15min
v’ 8h 15min
v 8h 15 min

v’ 8H1 5min

Date Added:
Last Modified:
QID#:

Question Type:

Accepted answers:

Free Text

Wed 4th Aug 2021
N/A

28,614,706

Question 39

.

v’ 32cm2
v 32cm2

v 32

https://www.classmarker.com/a/tests/test/?test_id=1792399&trk=edittest_inrow_edit

& cm

Accepted answers:

How many hours and minutes is the shop open each day?

Primary 5 Maths » Primary 5 Maths (Term 2)

The ralio of the breadth of a rectanghe 1o il permeter is 1: 6. The length of
the rectangle s 8 e, Find the area of the reclangle.

2 pts
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Question Type: Free Text

Date Added: Wed 4th Aug 2021

Last Modified: N/A

QID#: 28,614,707
Question 40 Primary 5 Maths » Primary 5 Maths (Term 2)

Arrange the following numbers in ascending order

2.078,2.87,2.087,2.78

Accepted answers:
v’ 2.078,2.087,2.78, 2.87
v 2.078,2.087,2.78 ,2.87

v’ 2,078 2.087 2.78 2.87

Question Type: Free Text

Date Added: Wed 4th Aug 2021

Last Modified: N/A

QID#: 28,614,708
Question 41 Primary 5 Maths » Primary 5 Maths (Term 2)

A fruit seller bought 1512 apples and packed them into boxes of 63. He sold each box at $19. How
much would he collect if he sold all the apples?

Accepted answers:
v’ $456

v 456

Question Type: Free Text

Date Added: Wed 4th Aug 2021
Last Modified: N/A
QID#: 28,614,709

Correctly answered feedback

1512 +63 =24
24 x $19 = $456

Incorrectly answered feedback

1512 +63 =24
24 x $19 = $456

Qu estion 42 Primary 5 Maths » Primary 5 Maths (Term 2)

https://www.classmarker.com/a/tests/test/?test_id=1792399&trk=edittest_inrow_edit
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Find all the common factors of 12 and 18.

Accepted answers:
v 1,236
v'1,2,3,6
V1236

v 1236

Question Type: Free Text

Date Added: Wed 4th Aug 2021
Last Modified: N/A
QID#: 28,614,710

Correctly answered feedback

Factors of 12: 1,2,3,4,6,12
Factors of 18: 1,2,3,6,9,18

Common factors are: 1,2,3,6

Incorrectly answered feedback

Factors of 12: 1,2,3,4,6,12
Factors of 18: 1,2,3,6,9,18

Common factors are: 1,2,3,6

Qu estion 43 Primary 5 Maths » Primary 5 Maths (Term 2)

A school with 74 classes aim to collect 2000kg of empty cans in a year. Evert class collects the same
mass of empty cans. What is the mass of the empty cans to be collected by each class in a month?
Express your answer as a decimal rounded off to 2 decimal places.

Accepted answers:
v’ 2.25kg
v 2.25kg

v 225

Question Type: Free Text

Date Added: Wed 4th Aug 2021
Last Modified: N/A
QID#: 28,614,711

Correctly answered feedback

2000 + 74 = 27.027
27.027 + 12 = 2.252
2.252kg = 2.25kg

https://www.classmarker.com/a/tests/test/?test_id=1792399&trk=edittest_inrow_edit
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Question 44

there at first?

Accepted answers:
v’ 37 girls

v 37

Last Modified: N/A

3U=24+15=39
1U=39+3=13
13 + 24 = 37 girls

3U=24+15=39
1U=39+3=13
13 + 24 = 37 girls

Question 45

L& than a cake?

Accepted answers:
v’ 0.12kg

v 0.12 kg

Last Modified: N/A

144+2=72
72+15=0.48
7.2+20=0.36

Question Type: Free Text
Date Added: Wed 4th Aug 2021

QID#: 28,614,712

Correctly answered feedback

Incorrectly answered feedback

Question Type: Free Text
Date Added: Wed 4th Aug 2021

QID#: 28,614,713

Correctly answered feedback

0.48kg - 0.36kg = 0.12kg

Incorrectly answered feedback

ClassMarker - Manage Test
Primary 5 Maths » Primary 5 Maths (Term 2)

At a gathering, there were an equal number of boys and girls. Then, 24 girls left and 15 boys joined the
group. At the end of the gathering, there were four times as many boys as girls. How many girls were

Primary 5 Maths » Primary 5 Maths (Term 2)

1
Samaniha has 144 kg of flour, She uges Enf il 1 ke 20 eakes. With thie
remaining ficus, she made 15 larts. How much maore four 5 nesded o bake a

https://www.classmarker.com/a/tests/test/?test_id=1792399&trk=edittest_inrow_edit
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144+2=72
7.2+15=0.48
7.2+20=0.36

0.48kg - 0.36kg = 0.12kg

Question 46 Primary 5 Maths » Primary 5 Maths (Term 2) 2 pts

The figure below is made up of two squaras Find the shaded area.

Accepted answers:
v’ 283.5cm2
v’ 283.5cm2

v 283.5

Question Type: Free Text

Date Added: Wed 4th Aug 2021
Last Modified: N/A
QID#: 28,614,714

Correctly answered feedback

¥ 18 x 18 = 162

EEEHE?=1215
162em? + 121 5cm® = 283.5cm®

| e

Incorrectly answered feedback

x 18 x 18 = 162

EEEEE?:‘!E"'E
162em? + 121 5cm? = 283.5cm®

| e
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Question 47 Primary 5 Maths » Primary 5 Maths (Term 2)

The ratio of Nura's age to Amy's age is 5:4. Three years ago, Nura was 12 years old. Find the ratio of
Nura's age to Amy's age in 8 years' time.

Accepted answers:

v 23:20

Question Type: Free Text

Date Added: Wed 4th Aug 2021
Last Modified: N/A
QID#: 28,614,715

Correctly answered feedback

12+3=15
5U=15
1U=3
15+8 = 23
4x3=12
12+8 = 20
23:20

Incorrectly answered feedback

12+3=15
5U=15
1U=3
15+8 = 23
4x3=12
12+8 = 20
23:20

Question 48 Primary 5 Maths » Primary 5 Maths (Term 2)

A total of 168 sweets and chocolates were packed equally into 14 bags. There were 6 more sweets
than chocolates in each bag. How many chocolates were there?

Accepted answers:
¥’ 42 chocolates

v 42

Question Type: Free Text

Date Added: Wed 4th Aug 2021
Last Modified: N/A
QID#: 28,614,716

Correctly answered feedback
14 x6 =284

168 - 84 = 84

84+2 = 42 chocolates

https://www.classmarker.com/a/tests/test/?test_id=1792399&trk=edittest_inrow_edit
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Question 49 Primary 5 Maths » Primary 5 Maths (Term 2) 2 pts

The ratio of the number of twenty-cent coins to the number of fifty-cent coin in a box is 5:2. The total
amount of money in the box is $10. How many fifty-cent points and twenty-cent coins are there
altogether?

Accepted answers:

v 35

Question Type: Free Text

Date Added: Wed 4th Aug 2021
Last Modified: N/A
QID#: 28,614,717

Correctly answered feedback

5 coins of 20¢= 100¢
2 coins of 50¢= 100¢

25 coins of 20¢= 500¢
10 coins of 50¢= 500¢

25 + 10 = 35 (coins altogether)

Incorrectly answered feedback

5 coins of 20¢= 100¢
2 coins of 50¢= 100¢

25 coins of 20¢= 500¢
10 coins of 50¢= 500¢

25 + 10 = 35 (coins altogether)

Question 50 Primary 5 Maths » Primary 5 Maths (Term 2) 1 pt

302721 =__ +700 + 21

Accepted answers:
v’ 302 000

v’ 302000
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Question Type: Free Text

Date Added: Wed 4th Aug 2021
Last Modified: N/A
QID#: 28,614,719
Question 51 Primary 5 Maths » Primary 5 Maths (Term 2) 2 pts

256 cighes of side 4om are nesded (o Tl the box completely. What IS the
height of the box?

Box

18 &m 4 om

32 cm

Accepted answers:
v’ 32cm
v 32cm

v 32

Question Type: Free Text

Date Added: Wed 4th Aug 2021
Last Modified: N/A
QID#: 28,614,720

Correctly answered feedback

4xdxd = 64

256 x 64 = 16 384
32x16=512

16 384cm? + 512cm = 32cm

Incorrectly answered feedback

4xdxd = 64

256 x 64 = 16 384

32 x 16 =512

16 3B4cm? = 512cm = 32cm
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Primary 5 Maths » Primary 5 Maths (Term 2) 1 pt

Question 52

A toy shiop has some 1oy cars as shown in the table.
Red Toy Care_|
2

: —
| “Blue Toy Cars | GreenToy Cars |

"m0 | e

Fird the ratio of the numbar of blue 1oy cars 1o tI_-u:lrl.umhlrt ::-Lg‘;:rx oY Cars
to tha number of red ey cars. Expreas the ratle in 18 sample

Accepted answers:

v’ 5:04:06

Question Type: Free Text

Date Added: Wed 4th Aug 2021
Last Modified: N/A
QID#: 28,614,721

Primary 5 Maths » Primary 5 Maths (Term 2) 1 pt

Question 53

Mr Lim buys 1.3 kg of flour. He packs the flour into packets of 200g each. How much flour is left?

Accepted answers:
v 100g
v 100 g

v’ 100
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The graph ehows the favousile type of burgers among students in a class
What fraction of the class considers fish burger as their favourite?
Express your answer in #s simplest fonm.

Favourite Type of Burgers
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Chicken Figh Ham Caukage ERL
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